AEi}F {:::% 5/8 PIN CONF IGURATION

USED WHEN HANDL ING PARTS:
HTTF -415104
HTTF-415105%

HTTF -415201
HTTF -415202

HEATER PIN CONF IGURATION
USED WHEN HANDL ING PARTS:E
HTTF -414031
HTTF -414032
HTTF-415101
HTTF-415102
HTTF-415103

NOTE USE OF 9/78 FPIN

NOTE USE OF HEATER FPIN

Oregon State

UNIVERSITY

HIGH TEMPERATURE TEST FACILITY
OREGON STATE UNIVERSITY
NUCLEAR ENGINEERING DEPARTMENT
CORVALLIS, OR 97331

DATE 1/30/2012 |TLITLE
CORE BLOCK LIFTING ASSEMBLY

DRAWN BY CADELL

REVIEWED BY| J
ALL DIMENSIONS IN INCHES APPROVED BY| W SIZCDRC NO. ‘ REV
TOLERANCES: +0.,008" B CB_LIft_Assm_dwg B

Y+7 MATERT AL ASSM SCALE 1:8 SHEET 1 OF 3
6 7 8

1 2 3 4 \V 5




_PART NOTES_

#1: ASSEMBLY OF - 3/8"-16-UNC THREADED ROD 147 LONG | LIFT_RBOLT 12
3/8"-16-UNC HEX NUT
3/8" USS FLAT WASHER = AER PN -
3/8"-16-UNC INTERNALLY THREADED TOGGLE ANCHOR 3 >_B8_FPIN ©
MCMASTER CARR #04255A100 4 3 4 _HOIST_RING 1
#2: HEATER PORT ALIGNMENT PIN = CORE BLOCK L1eT |
#3: 5,/8" PORT ALIGNMENT PIN
422 3727 HOIST RING PC NO |PART NAME QTy
MCMASTER CARR #2904T71
. SI/ZEIDRG NO. REV
#5: CORE BLOCK LIFTING PLATE . CB_Lift_Assm_dwg 5
4 ALL DIMENSIONS IN INCHES
SCALE 1:8 SHEET 2 OF 3
> 3 4 \V 5 6 7 8



HEATER PIN

304 STAINLESS STEEL

» 0 .990

MATERT AL :
c.000
5.500
N
O
O \
O O O
O ° O
O H O
@ © N

0.490
D e I

3/16

5/8 PIN
MATERITAL : 304 STAINLESS STEEL
6.000 3 1.000
5.500
3/16
PD0.615
DO.615
O
O
- |
o
o O
O
O
- |

0.365
e

REMOVE ALL SLAG AND BURRS

BREAK ALL SHARF EDGES TO 0,017 MAX

SIZE|DRG NO.

ALL DIMENSTONS IN INCHES

B CB_LIft_Assm_dwg B

REV

SCALE 1:4

SHEET 3 OF 3

5 6 7

8



